TT T [T T T T [T T T T [T T
Q
S 8 8
0 o moh oM
o o v =2 T
X — ©® ™ 0
Ny = <+ ~ @Q
- ()
tr L.
™ L T
0 | ™~ + o+ o+
a )
~ L o h &0
N[ b
<+ —— o O - .
— |, - a ©O = ©o o O©O
) —+ 25| | | | | |
[N <5 N 5 I 2 B
n o o o — ©
> o N o o 9o 9N
L = S T
= 1o
B 7 Il
= R TR N A R [T N  E [T N A 9 I
a (ap] <+ © — ]
| | | . Il :q>)
S S S ¢ x ' % E
Q. o I [e]
n [c S -4 = -4
(A93 s zwd)/suojoyd
| — LALLLBLL LLLLERLL LR TTTT T T T T T TTT
N S
o —t—
0 e
0 o —r
* (@) e —
g — C B e .
E E; - T —+—-
o - e
an 4 ——
~ B %7H— .
>~ B — 7
&g e
h P 7
) M——
a c I L -
© = —
Py L
= N | i
5 o S .
CV) = -
i = -
(o] n i
(o>}
=11 IR ! i1 [+ bl
o — o [aV] o (aV]
o | | '
-~ (@) o
- — s[enpisay

(A®¥ s)/syuno)

30

X2req = 1.329
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Energy/keV
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